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1 Please, provide the structures (A and B) and mechanisms. 
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2 Find the missing steps, structures (C and D) and mechanisms. 

 
 

N
Troc Me

O
(i),(ii)

C

BF3.2Et2O
toluene

-78 °C to 25 °C

N
Me

Ar
H

H

+

O

N
Troc Me

O Ar
(iii)

N
Troc Me

Ar + D

Zn, AcOH
MeOH
60 °C

HN Me

Ar

(iv)-(vi)

N
Me
H

H

H
H

OSO3

OH

symbioimine

Troc

Ar = 3,5-(TBMSO)2Ph

(42%) (>5%) (11%)

 
 



3 Give the missing steps, structures (E, G and H) and mechanisms. 
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4 Could you think of a plausible mechanism for this reaction (optional). 
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Glossary: 
 
D-DIPT: D- di-iso-propyl tartrate 
DCE: dichloroethene 

O

O

F

S

F

OO

F

Si

 
TFDA: fluorosulfonyldifluoroacetate 
 


